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1.  The graph of the function f(x) is shown above. At which point on the
graph of f(x)is f'(x)>0 and f"(x)>0?
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2. The graph of the derivative of /is shown below. Which of the following
must be true?
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has a local maximum atx=0. tM i~ & = O
isincreasingon [-3,3]. £ ¢ (~e2cas. v
has a point of inflection at x = 6. £ D e TemES Feom DEC ™ N
f1is concave down on [0, 6].
e) fhas a local minimum at x = -3.
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f ’( 1)=f'(1)= f’(2)=0, which of the following statements must be true?
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4. If f(x)=x(x+ 1)2 (x—2), then the graph of f(x) has inflection points
when x =
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5. The graph of the derivative of f(x) is shown below. Which of the
following is true about the function f(x)?
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>< f(x) is decreasing at x=0 “\ ir

f(x) has a local minimum at x=-2

@ f(x) is concave up at x=-1
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6.  If f(x)="7sin?(2x), then f”(%)=
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Extra Credit
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8. The acceleration function (in m/s”) and the initial velocity are given for a
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Round to 3 decimal places. score

Show all work.

1. Given y= —ngﬁ , find the sign pattern for % and determine if the critical

values are at a maximum, minimum, or neither.
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2. Given y= x28 _J: 7’ find the sign pattern for g% and name the points of
Inflection.
dy L WYY
- >+
£y (e Cred) - ErRen) 28 (9
o (g h (\C')_ ﬂ’[\“t

—H5 (;Cz-f"'l’\t Eq () =+ (*3\‘1’*‘5’5 |
(3(7'-&'1%”‘




3. Find the domain, zeros and VAs of y= ln(—x4 +37x* - 36).
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4, Find the extreme points and end behavior of y= ln —-x +37x* 36).
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Show all work.

5. Setup aKey Trait table and sketch y= x28 _J: )
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6. Show the Algebraic Traits and sketch y= ln(—x4 +37x% - 36).

Domain: X & (’C:\”"\ U‘C‘\éﬁ Range: Y < (*d«\ 5.:}1""]

Y-—Int: NonE VAs: X=%t! -6
Zeros: S'ze & 3 Extreme Points: S 2% -4
End Behavior (Left): 208 POEs: Ne~g

End Behavior (Right): WMOVE
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